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»  Time allowed: 45 minutes

+  Part A: 20 multiple-choice questions (20 marks)

s Part B: 8 free-response questions (30 marks)
«  Total 50 marks

Part A

20 multiple-choice questions
1 mark each: 20 marks
Circle the carrect answer.

1 Solve the equation 6 + 9p=4.

2 Inwhich line was an error made in sclving this

equation?
7d+17=d-9 Line 1
6d+17=-89 Line 2
6d=26 Line 3
da 28 Lined
6
1 .
d= 4— Line 5
3
A Line2
B Line3
C Line4
D Lines
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3 Which 2 equations have the same solution?
1 Fa-5=9
a+5
e}
6
3 2.
3
4 4-3a=-2

2

land 3
2and 3

land 4

T 0O m >

2and4

8-
4 Solye F:-—4.

A p=-2
B p=10
C p=8%

D p=-10

5 Solve5(2-3m)=125.
A 5 B 4
c1 D -1
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11
17.55 . Calculate Mwhen £:=4.5,
M-4

L=

A 76
B 77

cC 75
D 85

The recommended maximum heart rate

{MHR, in beats per minute} for a person is

approximated by the formla:

MHR = 205.8 - (.685a

wheze 2= age of the person. 12
‘What is the age of a person whose recommended

maximum heart rate is 190 beats per minute?

A 23 B 24

C 76 B 75

Find the value of ain the formula A= 24 if

a+b
Ah=128,A=672and b=4.9. 13
A 154 B 54
C 101 D 56

The subject of the formula D= ms+ &is changed
te m. Which of the following is correct?

D-% E-D
A m= B m=
s s
o] m=£—k D m:ﬁ—D
s s

Which of the following is carsect when the subject

A-F

of the formula p= ischangedto 87

A B=4P-A
B B=44-P
C B=A-4F
B B=P~dA
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‘What is the linear function for this table of
values?

¥ -2 14 46 62

Which of the following equations is a linear
function?

A d=6-6n
B y=3x
C xp=5
D s=48

What is the equation of a linear function with

gradient _3 , vertical intercept 2, independent

variable rand dependent variable s

3
A =2+~ —g
4

3
B s=2+r
4
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14 The volume of water in a glass is proportional to 15 A tankis filling with water at a constant rate. The This graph shows the revenue and cost functions of catering for 2 morning tea. Use this graph for Questions
the depth of the water. When the depth is increase in the water level varies directly with time. 17,18 and 1%,
5.5 cm, the volume is 535.7 cm®. What is the If the water level increased by 60 cm in 9 minutes, .
valume when the depth is 18 cm? how long would it take to increase by 160 em? . Cost and sevenue geaphs for a morning tea
AT VAT ARSI B
A 198209 cod’ A 33min :
B 1923.52 cm® B 25min £l
C 1801.9¢m? C 24 min g
D 7532w’ D 26 min T
1 @
16 Use the graph below to solve the simultaneous equations y= —x~1 and y=5-x §
2 3
8
¥ =
B
& w4

Aa

s
o

e e

: 5 1w 15 2 2 30 35 4 45 s ¥
Number of guests,
\\ /
S0 2 42 4l L o
) 17 What profit is made when the number of guests 19 ‘What daes the 7 represent in the cost function?
\ is 27 more than the number required to break A The amount each persan pays
2 N even?
, \ A 120 B The set-up cost
i . \\ B 130 C The number of people required to break even
; i o \ G 135 D The cost to the catering firm per person
i
D 140

A x=4,p=1 B x=0,y=-1 C x=1py=4 D y=-18y=12

20 The point of intersection of the lines y=3x-3
and p=mx+2is (2, 3). What is the value of m?
18 How many guests would result in a loss of $807

1

A =

A S 2
B 7 i
B —

c 3
D 12 cl
4

D1
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21 Solve each equation.

a 9/-12=43-6f

! 5of9 z

Part B

8 free-response questions
30 marks
Show all working

b 6(2m+4)=5(m+ 9

d -r=2i2
4

{8 marks]
22 I G= ror-z ,calcufate zwhen G=21, x=9.4and y=2.6.
3
[2 marks]
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1
23 Thevolumeof a cone is Vn:r; B , where ris the base radius and Ji is the height. If the cone hasa

volume of 1450.47 cm® and a radius of 9 cm, find its height to the nearest centimetre.

{3 marks]

24 The cross-sectional area of a tunnel is in the shape of sn isosceles trapezium given by A = (cs+ w)c where:
¢ = the vertical height of the tunnel
5= the positive gradient of the tunnel sides
w=the width of the tunnel's roof.

Calculate wwhen A=98.8 m®, ¢=52m,and s=2.

[3 marks]
A .
25 The volume of a trapezaidal prism is V= w(a + b) H . Change the subject of the formula to 5.
2
[2 marks]
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a the gradient m

b the yintercept ¢

¢ the equation of the line y= mx+ cand graph the function on the grid provided.

T

sl

e o B

N

e o

1

aEa

ey

f N [4 marks]
© Cengege Learning Austraia Pty Lid 2018 MATHS127718603 www.nelsonnet.com.au

27 ‘Fhe number of bacteria in a sample of millk is checked at the start of each day.

28

9 1 2 I
‘Pacteria’ . 3000 15727 - 23454 AL181 ! 53908 66635
:perml, B

a Find the linear function for Bin termsof d

b Ifthis linear function was graphed, what would be the gradient of the line and what would it represent?

¢ What would be the vertical intercept of the line and what weuld it represent?

d Caleulate the amount of bacteria per millilitre on the tenth day.

e Milk is unfit for use when the number of bacteria exceeds 100 000/ml. At the start of which day will

this occur?

[5 marks]

The mass of wood is directly proportional 1o its volume, The mass, A/(g) of a type of waod is given for

different volumes, ¥{cm®), in the table below.

5 . 27
Mass M(g) . L 2l 162 1134

a Find the equation for Min terms of V.

b Find the volume of a piece of wood if it has 4 mass 0f 235.2 g.

This is the end of the test.

Use the rest of the page for extra working space. .
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{3 marks]
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Answors

Part A
1B 2B 3cC
6C 7a 8D
1B 12 A 13 D
16 A i7 C B8 B
PartB

2
21 a 3— b3 ¢ -l—
3 7

22 05
23 a 17cm
24 86cm

2V
28 bp=w-2
hE

26 a -5 b9

C y=-15x+%

__.....3_3- -

e b O

B=127274+ 3000

4B
9 A
14 D
9D

d 192

12 727, the increase in bacteria/mL per day

130 270 bacteria/mL
e Bihday
28 a8 M=042V b 560 cm’
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a
b
¢ 3000, the number of bacteria at the start
d
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§D
i cC
15 C
20 A
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